Mt b e b3 BLE R ra gy e r el
. v {5 uapnm (02 3 Save{ g ok
0 e MATCY LI 2% K0 e (B0
N L |I!Iiiﬁll S == —— ===
1 e s e, i, SR o m— 1 e
- = : ) ] L 7
Wﬁ_ anneprane T i B 14 o
Bowro| 14
_| ol N S e e Facwon
e - | MPSAYETOE
i e S K i = Onepauna
- T x
_ m m i
o
HanMEHOBAHRD e | & m i3 m ] Hw : m £ M., h -]
beoliss 8 B B el B
. T E s
U el GG B e
= 3 _m| |a85 [§8 wllm i1 L B |3 |S«dv| @
1 2 1 A 5 ] T n ] m jow 12 13 | e " 7 | 18
1 1 W4 ¥ | W 1 W | v | 1 : T 1 14 14
s | wo | don | En [ 5 | = 0 wo | wn | o
& 1.0 1,06 | 1,05 |
L A .1 0,08 i : 0d oGl 0,08 [ 008 |
! T 015 045 | 4156
X = [ (e ooma | oy | 0,01
k. - - oF 07 | 67
6. LS " =3 L 04 [ 04
7, Ty L1 (L 028 | 020
8. Macno pacTitenbHos _* T B -t 1 144
{9 Caexna il L | . . SN W NN - 8 e 2
10. Kaprodent coemmui o o 05 ; . 28 1 336 1 3.6
E 23 " B E [T (=0 i s .mh..ml 0,56 |
1L Ny penuatein__ A | & = air i oM | = 08 | 05
13, ToMaTHOS TIape. 5y CEE 4 1L 0,48 . 018
14, Maco roB.Hes wodTH f " 106 | 1,06 | 1,06
15, Wpyna puconin - L _ | ma _ 06 | 08
16, ma 5 3 - a : R
7. M0 CAHILGHOE = o on7g &= 0105 18 | 0,98
18, Abnokm 3 - iss | = L 1,56 | 1.55 |
19, Caxap & o I 54 oo | [ nre | 0,71 | 071
(20, Kpyni rpesHean e NI I I M T | T | o7 | 07

H v i i v
—




-
F TP
E.@“% Wit 2 S0 s 140 Wy TR puTL Faaeads b -1
¥ A i =8 TU kg Y02 B
%%Iﬁw_wuh«ﬂ ] ] rpimirn WA LI g e =
l.._..li...._nil.
CyMmapHee s e | ' MIZS _..l-i,.__ai:l Y
EATEEOPWR ; ..,.......q. i
P I S Tl | 4 E & 7 | .
oo J-x ner T e ST - 5
=4 ..nFl...._ Tl .._ﬂl o
OCaHAN g
+1
Bcaro| 215+
T8y - o ——
= s ol -
= [ = 3
_ & E | § m i m 1 :
5 i m L M 55 w = i h ¥
[EETe— “ ] w m | 3 m L. & i .mm “m _ 4 m Ik
o bR
¥ [l T v ¥ _ w_ W
ﬁmn ww mwu I _m 3% 3EE (3% [sF |sd% ii (3% |d% |F
2 a 4 B H T [ § L= 1 12 LE] 14 16 1w 17 1 L) &= an
@ | oo | 3w [ ]| @ | oveed | taeer ] 3 | aeda = s | e | s g | 18 | 35 p_| g
) A 160 i 15 & 100 LL=1] a0 En . LE] =] (=] Im g 120 120 K
= am | st | o =
ur G | 0o ]
o Tea | wme oie | om | om | oos | oo | ooy | war | ooed | i
ar
] .__mm,.u..m. o = 1
¥ 17 u 1306 1.3 057
] [ o
9. Kywypyia 0| = |
10, Tysimi ] T o - 588 oo | 04
11, Xneb auesHanbm e | & | o 845 N i “2& | o | bn 8§
12, Macno pacTuTeniioe i = ngi | nia | oua "
13, Canna W | ow = bl i & i
14. Kanycra comwan 18 o = = = gk |
k 18, Kaprofieit cRasHi | n i [ hE) [EL
“v 16. MoproRs. FE] [ EE | bar | 0AB |
A7 Nywpenvaman | = | = = 22 | oz | od | oaen | nsbL0me
\ 8. Tomamnoe mope | ; 2% bat | uea | o =
19, Cmarana i il | i Y L | 1m8h G et 0. .
20.Mysanweswssan, | ¥ | 7} 00 1 | I S P i EERE L=
21, Kpyna puconan L o . T\ ) N T 108 nM |
22 Mnetpwauon | s i E
23, Maonon 5% AL - oot |
24 Macnocrmmowwoe || ° | M ] naw | _opaz | oget oM | oo |
25, Ahwa N T it
26, Abnowm — s | oW f
27. Caxap e g 1 = i
2. Kpyna rpeneman. ¢ * il SR s




i s o T ,.._..n_....._.._"_.
1 Sz m| S0 24
_ m CITKD

e e

— p— - : oy = Packon npojysIos iWTaHuA
_ S an H " =T = n - =
.H & | ! i M m. E L
m 5 -.w. i - :-M w ..M w _um w . M W m m m -W m m
B B R B R AN
I L iR - e m i m_ .Mm HEIEHHE:
s - 1 -1 = = Prsg
is (i b (BB R B lec i W Qb @ opE U b U8 [ 5 b6 |Ee(23|BE|E5| &
Fe] n 74 = Fl n n i ¥ 51 1z n T » i T W 18 40 4 42 43 dd
"o | B | me1| o5 | ® | 1aea | s s | maei | @8 [ awi| a5 | wmer | el | w0 | s | | a0 | 36 | 182 | 1 8 | 21641
s T BT 20 W I K 300 s ) 50 b ] 20 in Fut) 150
K e | N i L L : (388 | 37.434| D206 LAl
. s E BE 1,61 | 14,659 D081 | 064 | 16,99
I . [ | o4 | 0337 | 0003 0,38 |
e | o | oo 11 o 02 0,46 | 0.954 | 0006 | 004 | 1,96
= 19 | s | om 028 | 1,809 | 0011 | 000 | 238 |
. ] 0,16 ooz 002 | 0449 | 0001 | 04T |
{ 1,37 |12989] 0071 | 057 | 1%
[ ] I LRl ame: | o 00089 0096 | (it | | 904 |
&y | opn | oead = 056 | 4048 | 0022 047 | 48
= = : e 05 | 364 [ 002 036 | 432
- < L2 247 115626 0004 | 041 [ 18
ot 044 108 oy . [ 016 | 036 | 2305 Eml_r....ﬁ 273 |
= w3 | B naj E L M_HMmll.m..ﬁlhr_l_. 041 | 1058
s ] - - AR . PR 0,76 | 4,602 | 0,008 _ | B4 |
B ) I 4 | 488 | 5148 | 024 | 032 | 3692
| [ 284 122 | na 03 | 0,82 | 6544 | 0,046 | 0,13 | 764 |
| | a4 i3 i [ E 11 | 7.628 | 0,05 | 018 | 898 |
_ = _ 1 131 na | 9,28 [ 1,867 | 0013 | 0,02 | 1.96
' .. ! I o2 (18851 001 | 008 [2206
. . S a3 | .04 | | ogs |se83 op4r| | 667
_ i - b i | 1,08 | 7,827 | 0,043 | 034 | 929
0,00 04 == 0,99 | 9001 | 0048 | 04 | 1044 |
= = ¥ | i nan2 4541 (35135 027 | D054 | 40
| i =l c7zs | 120m | ouw | o | 0872|5323 | 0039 0066 | 63
- | 50,59 | sar | & 0.5 - . -
: - ! (R £l =R (55«00 L. | ATB 120.198] 0411 | 23,09
| [Xr) nas | ol = aps TR T 1.2 | 8 | 0,51 .m._lu.mm..r |Fm-._.-.lm: |03 B0
- — _ ] e L i [ osz [4932] 0038 15858 ]




